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\begin{pspicture}(-2.75,-4.25) (2.75,4.25)
\psclip{\psframe[linestyle=none] (-2.5,-4)(2.5,4)}%
\psplot[linecolor=red!50,linewidth=2pt]{-2.5}{2.5}%
{x 3 exp }
\endpsclip
\psaxes [arrowscale=1.5]{->}(0,0)(-2.5,-4) (2.5,4)
\end{pspicture}
yA
\begin{pspicture}(5.5,8.5)
\rput [1b] (0.25,0.25){%
\begin{pspicturex}(-2.5,-4)(2.5,4)
\psplot[linecolor=blue!50,linewidth=2pt]{-2.5}{2.53}}
{x 3 exp x dup mul 2 mul sub}
\end{pspicturexl}y,
Yh
\psaxes[arrowscale=1.5]{->}(2.75,4.25) (0.25,0.25) (5.25,8.25)
\end{pspicture}



